
WS7­3 Investments.notebook

1

January 25, 2015



WS7­3 Investments.notebook

2

January 25, 2015



WS7­3 Investments.notebook

3

January 25, 2015

Jack should choose option 1 because it is the cheapest 
and he does not make a lot of transactions to make it 
worthwhile to take option 2 and option 3.

Total cost = $11

Cost per transaction:

$11÷11 

= $1/transaction

Total cost = $14.75

Cost per transaction:

$14.75÷11 

= $1.34/transaction

Total cost = $24.95

Cost per transaction:

$24.95÷11 

= $2.26/transaction

There are actually 4 weeks plus 2 or 3 days in a month. If Jack withdraw 
twice in a week, he would withdraw 9 times in a month. 8 times for the first 
two weeks then an extra time for the first half of the following week.

Total transactions = 2 x 4 + 1 + 1 + 1 = 11 transactions in a typical week

Jack makes 11 transactions in a typical month.
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Alex currently uses Option 1 because the $9.75 is the 
charge for the monthly fee and $7.50 is the charge for 
extra debit transactions over the month.

Number of transactions = extra fee/1.25 + 10

                                      = 7.50/1.25 + 10

                                      = 6 + 10

                                      = 16

Alex made 16 transactions because $7.50 is for 6 extra 
transactions and add 6 to 10 is 16 transactions in total.

Total cost = $9.75 + 7.50 

                = $17.25

Cost per transaction = $17.25/16

= $1.08/transaction
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